
33642220 Utpf pptattltqnlnh 200lq qz uFquq 0 0 5

33691203 lnqurptnrutr (lnqurpunuh \ur$nil) 50ilq qz 4hquhuu 52,32 72557r,43 2400

33691203 lnqurpururh (lnqurptnutr \ufrntil) 25ilq q2 qhqurhuru 45,25 108600 24c,0

336214r,0
qhnhtnfrqf'ltl (rqtf l't'+rqnlrl hppntilf L), ]r\utqutl|4
4/7,25 {q

qz qhrlu}ruu 90,53 217272 2400

33651118 oh$urnhurpunh (qh$unhurpunh Lunnnhnttf) 1'0cn SZ urlulmlu 157 3140 20

3361 1 100 orltqlurqnl2OIq q2 4hrluhuu 12 21600 1800

3362$9b' bnrpnuhrllr4 40ilq qz qtqu}tuu 3,3 1650 5t)0

13591:

33621450 ldpalrqlL (uil1nA[u$lt[ ptqfltuu) 5dq qZ 4hluhuu 7,99 9s880 12000

33621720 plrunqlnlnftr $nr-rfurpuru 5dq qz qhrluhuu t2,99 155880 12000

33621110Llurp$urplrtr Lurupfrnul 2.5rlq /qlururnlr\t rnurpurptil/ g2 qtquhurut t4 21000 1500

33631310alr\p$hhur\ trunnplrnuf 50 ilq qZ 4tquhuu 15,04 24064 1600

33621690 \urp{ta[6.2s ilq q2 thquhuu 12,99 90930 7000

3362t690 \urp{t{t125 ilq q2 4hrluhuru 22,8 446880 19600

33621761
urgtrnlrluurftrg]rlurppnr- 100 rlq /ur4h1nqb,
rlrunurtrrauluuln/

qZ qhqurhuu 18 450000 25a00

33661 133 \urpplr4nqur, frqnrqur 25rlq+250tlq q2 8 l 283500 3s00

33671rr3 rurlxnurulinl]r untl$unn l0rl1 / q2 gquslrt 1 100 66000 60

336512s3 iunlnpufr$htr 20rtq qZ qhqurhurn 96 201600 2100

33621390 ildlrn4urpnh 200ilq qZ 4hquhuu 48 43200 900

33631310 \r[n$tLut\ 25il(3il1 qz unlqntlur 69 13800 200

33551 1 1 I Ffrunqpnlnfr, qhplrlqnqphl 5/5ilq q2 qhquhuu 1 1 8 177000 1500

33621420 uunprluruurruurJrh (ururnprluruurururlrtr \urplrnul) 10ttq qz 4hrluhurut 16 95000 5000

33691209 SulluntlnqJrtr 0.4ilq qz 4hrpuhuru 120 648000 5400

336313.80umlqhFhqntr (urnlqtplrqnblr hlulpnplnph+) 150dq qZ 4tqurhurn 88,07 924735 10500

33691186 rqlrpurgturuil 400dq qZ 4hqurhuur TI.O7 99630 9000

33691212 alrnutflrtr, htuqhplr4|rh 450ilq+5ftIq qz qhquhuru 78 374400 4800

33691203 Lnqurpnurtr (lnqurpuluh \urflmril) 50dq g2 qtrlqlruur 32,9 644840 19600

33691203 LnqurFuurh (lnqurpururh \urfmttl) 25ilq qZ 4hquhurut 44,99 881804 19600

33691231
\urplrrr.rf(\ur1glrnul \urppnhurur), lunlt\utpf $tpn1
500rlq+10rf\q(a00rftl) /1hr1u:huln bullhlnl ulluruu[\t

rnurnurlnl-rv

qZ 4hqruhuu 44 369600 8.4.00

3361 1 100 orlhqpurqnl /OrfhrqpurqnS 20tlq qz 4brlurquufd 11 ,6 t7400 1500

33621620 uqfrpnhnpr\urnh 50dq qZ qhrluhuru 62,05 46537s 7500

33642220 \rqpufL O.2silq qZ ltqurhurut 5,46 8190 1500

33642220 Uhplrgth+Lhqnlntr 4rtq qz qhqru}uu 74,4 33480 450

33642220
durqtrhdurui uuulurFrnurn (rfurqhhqlrntrl uruulurpuuruh

urturpruhlr4purur), \urfrntrf ruuqrupuunn (\ufimlil

uruulurluuruh htrllrhlrryuru) 140rlq + 158ilq,

q2 qhquhuru 29,05 363125
' :,'

12500

33631410mlnrqnr-plrhnl (allopurinol) 300rf q qz qhrlulruru 44,1 3s280 800

33631320 athlrshluilhL 2s0dq q2 4hquhuu 0 0 500

33671117 Surrrpftt qZ qt{+lt 540 16200 DN

33621420
ulnnp{ururnruur}rh (urumprlururnuru}rtr \urp}rntil}t
hhrlhhhrrnurur) 40ilq

gz rlhrlurhruut 68,1 s10750 7500

33631310qb\1n$hLrrrh Lunnplrnr-rf 100 tlq q2 4hquhutut r02,7 61620 500

33642220 tlurtlutrqlrtr Snpurh 3 i 6/280ilq qZ 4hqurhurut 60,88 292224 4800

33621620 rqlrpnLnlu\urnL 25ilq qz 4trluhuut 3s,09 70180 2000

33691203 lnqurpruururtr+hlr4pnpppurirurqlr4 50dq+ I 2,5rlq q2 4hrlurhurur 41 401800 9800

33661156O[rln1n1ru\hur\*fohl qz S1u\nlt 401,5 20075 50

33621590bn4nuhil]q 40dq g2 qtrlurhurur 3,1 1550 500

33621550nunl[rq1ir1+ruiltruttq]tlt 5rf q+5ilq qz 4hrlurhurur 1 1 0 231000 2100


